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3rd Grade Math Mid Term Evaluation
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1-Forms of the Numbers. Standard Forms, Word Form, Expanded

Form.

Complete the table

Standard
Form

Word Form

Expanded Form

560

One thousand, two hundred seventy-five

200+90+5

Twelve thousand, three hundred ninety-
six

Twenty thousand, four hundred twenty-
one

2-Identify the addition property used in each question.

1. 5+0=

2. 8+10=10+8

3. (11+2)+8=11(2+8)

4. 12+0=12

5. 9+3=3+9




3-Complete the pattern

Count by 10

O OB

P i, L P

- >713|723|733|

Count by 100

o
QR? 265|365|465|

Count by 5
#‘““ ~

. 140'145'150'

4-Answer True or False

56 is greater than 46
10 is greater than 11
89 is less than 90

45 is equal to 40 + 5

91 is the same as 90 + 1
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5-Add or Subtract, write the correct answer.

A - 20 = 55 + 20 =
AS + B0 - 5 - 30 =
A5 + 11 = &7 - 7 =

e S = 4+ 11 =

21- 20 = L+ o=




6-Match the blocks to the correct number.

H H 217
H H a
E E 236
06009 161
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9- Carefully read each question, identify the key information, chose the correct
answer,

1-On Hallowing night, Chris went trick-or-treating at 12 houses. If Luigi visited 9 more
houses than Chris did, how many houses did Luigi visit?

A) Luigi visited 21 houses B )21 trick-or-treating  C) Chris visited 21 houses

2-After a long night of trick-or-treating, Calvin counted his candy and saw that he had
25 chocolate candies, 15 gummy candies, and 30 hard candies. How many candies
does Calvin have in total?

A) 25,15,30 Candies B) 70 Candies C) Calvin has a lot of Candies
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